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N.B. (1) Question no. 1 is compulsory.
(2) Solve any three questions out of the remaining Q.no. 2 to Q. no. 6.

L da) Pl the Inverse Laplace transtorm of

845

(S +48+13)2
(b) IfV=3x% +6xy-y3, show that the functlon V 1s harmonic, ﬁnk ;O ndmg

analytic function.

(c) Evaluate (.:'. zdz where C is the upper half of the circler = 1. e

(d) Provethat f,(x)=1, f,(x)=x, f;(X)=3x:2_l are

ho cver(—1, 1).

T cosat —cos bt
2. (a) Evaluate |———— dt g
0
Obtain complex form of fourier seri&§ f(x) =% for in (-7, ) .
~Z
wulasolve , —— i 8
ox~ ot
3 6
6
: : ; | . 0Ou o’
‘¢ solution of one dimensional heat equation, e C* 5;1; under the .
irv conditions u(0,t)=0 u(4, t)=0 and u(x, 0)=x, (0<x<?),¢ being length
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(¢) Evaluate f
8
6.
6
(b) Obtain the fourier exp '
O<x <27, f(x+2 h 6
Also deduce that
(¢) Solve usin '
‘ranstorm (D? — 3 + 2) '
2)y=4¢e2t with y (0) = |
, =-3y(0)=5% 8
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